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e Section 4.3 Income tax
( Example 1 )

A printer has a weekly wage of €800. He pays income tax on all his wages at the
standard rate of 20%. If he has a tax credit of €48 a week, find how much income

tax he pays.

= L 406,500



(Example2 )

A woman’s income for the year is €45 000. She has a standard rate cut-off point of
€28000 and a tax credit of €4000. If the standard rate of income tax is 20% and
the higher rate is 41%, how much income tax does she pay for the year?

{ Example 3 )

A man pays €4500 income tax for the year and he has a tax credit of €2400.
If he pays tax at the standard rate of 20% on all his income, calculate his gross
income for the year.

(Example 4 )

Conor has a weekly wage of €840.

He pays the USC at the usual rates and PRSI at 4%.

He has a tax credit of €65 and pays income tax at the standard rate of 20%.
Calculate his take-home pay after all deductions.

Exercise 4.3
1. Tom's weekly wage is €800. Gross pay €800
His tax credit is €90 a week.
o Tax@20% ...
He pays income tax at the rate of 20%. Taceradit %0
Copy and complete the table on the right ax credl
Tax due

to find Tom’s take-home pay.

Take-home pay

2. Helen's gross pay for the year is €34 800.

i e Gross pay

ler tax credit is €2585.

She pays income tax at the rate of 22%. jlex @::_%

Copy and complete the table on the right. L
Tax due

Take-home pay



3. Leah has a weekly wage of €750.
Her weekly tax credit is €72 and the standard rate of tax is 25%.
How much income tax does she pay each week?

4. Conor has a monthly wage of €3200.
His monthly tax credit is €280 and the standard rate of tax is 22%.
Find how much income tax he pays each month.

5. Elaine has a weekly wage of €920.
Her weekly tax credit is €84 and the standard rate of tax is 24%.
How much income tax does she pay each week?

6. Jill has an annual salary of €42 000.
Her annual tax credit is €3600 and the standard rate of tax is 22%.
How much income tax does she pay for the year?

7. Acarpenter has a weekly wage of €1050.
His weekly tax credit is €78 and the standard rate of income tax is 24%.
(i) Find how much income tax he pays each week.
(i) What s his net pay for the week?



8. Angela has an annual salary of €46 000.
Her standard rate cut-off point is €28 000 and her tax credit is €3200.
If the standard rate of income tax is 20% and the higher rate is 42%, find
(i) the gross income tax for the year
(i) the amount of income tax paid for the year.

9. Ajournalist has a weekly wage of €980.
His standard rate cut-off point is €620 and his tax credits amount to €44. The standard
rate of income tax is 20% and the higher rate is 42%.
Find (i) his gross tax for the week
(ii) the amount of tax he pays each week.

10. Niamh has an annual salary of €48 000.
She has a standard rate cut-off point of €34 000 and a tax credit of €4600.
If the standard rate of income tax is 20% and the higher rate is 42%, find how much
income tax she pays.

11. The Universal Social Charge (USC) rates are given in the table below:

Per year Rate of USC Per week
Up to €10036 2% Upto €193
€10036t0 €16016 4% €193 to €308
In excess of €16 016 7% In excess of €308

Aidan has an annual salary of €57 000.
Calculate his USC for the year.

(ii) Paula has a weekly wage of €950.
Calculate her USC for the week.

(iii) A salesperson has an annual salary of €63 000.
Calculate her USC for the year.

(iv) A plumber has a weekly wage of €1200.
Calculate his USC for the week.

12. Amanager has an annual salary of €43 000. Her tax credits amount to €3500 and she
pays income tax on all her income at the standard rate of r%.
If she pays €5960 in income tax for the year, find r.



13, Abus driver hes o tax credit of €60 a week and pays inceme tax on all his wages at the
standard rate of 2094
If he pays €140in income tax for the week, find his gross weexly wage.

aelly Qv
Naw 04D
Hlw pg 75 / 6o

inda has a gross annual salary of €28 000 and her stand ard rate cut-cff peint is
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Helen paid ££400in income tax far the year, Her tax credits ameounted to £2600 and
zhe paid income tax on all her salary at the standard rate of 20%.
Find her grass salary for the year.

2070 =%
Gross Tax
4 Yoo+ 2600 = 3000

av/s = 3000

e = 1000 00
202 43&0

3000
"';'a_ = 35-0

(60 = 350 x(6o= 35,000

16. Aman pays £6520 income tax for the year and he has a tz2x credit of £3600. He pays
incore tax on all hiz income 2t the standard rate of 22%.
Caleulate his gross annuzl salary.

Hiw

17. [Finian has a weekly wage of £000.
His tax credit is €62 and his standard rate cut-off point is €620,
The standard rate of tax is 20% and the higher rate is 4 2%,
lle pays USC at the rates giver in Question 11 above,
He alse: pays PRSI 2t the rate of 2% on all hls wans.
(i) How much income tax dees he pay for the week?
(il Fow rmuch dees he payin LSC? et oy is the same
(i) Calcu'zte how much he pays in FREL as take-home pay.
(iv) What is his net pay for the week?

JJI—)?SE I 27

Furian earns € 990
por week fund Wi usc,

() 231 xes/- {116

(8)[352 > 1393 | 52
1343 + I &. 7.

382
-23)

S| X270+302
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18. John White is a factory manager and earns €54 000 a year.

20.

His yearly tax credit is €4300 and his standard rate cut-off point is €36 000.
The standard rate of tax is 20% and the higher rate is 42%.
He pays USC as in Question 11 above and PRSI on all his salary at the rate of 4%.
(i) How much income tax does he pay in the year?
(i) How much does he pay in USC?
(i) How much in PRSI does he pay?
(iv) Calculate his take-home pay for the year.
(v) Express his take-home pay as a percentage of his gross salary.
Give your answer to the nearest whole number.

Emma is paid €10.40 per hour for a 35 hour working week.
For each hour over 35 hours, she is paid 1% times the normal hourly rate.
Her tax credit for the week is €68 and the standard rate of tax is 26%.
She pays USC as in Question 11 above and PRSI at the rate of 5%.
Ifin a particular week she worked 45 hours, find
(i) her gross wage for the week
(i) the amount of income tax she paid
(i) the amount of USC she paid
(iv) the amount of PRSI she paid
(v) her net pay for the week.

A woman paid €6600 in income tax for the year.
She had a tax credit of €4600 and her standard rate cut-off point was €28 000.
The standard rate of income tax was 20% and the higher rate was 40%.
(i) Calculate her gross tax for the year.
(i) How much income tax did she pay at the standard rate?
(iii) How much income tax did she pay at the higher rate?
(iv) How much income did she earn in excess of €28 0007
(v) What was the woman'’s gross income for the year?

Exercise 4.3

1. €730 2. €29729 3. €115.50
4. €424 5. €136.80 6. €5640
7. () €174 (ii) €876
8. (i) €13160 (ii) €9960
9. (i) €275.20 (i) €231.20
10. €8080
11. (i) €3308.80 (i) €53.40
(iii) €3728.80 (iv) €70.90
12, 22 13. €1000
14. €4950 15. €35000

16. €46 000

17. (i) €173.60 (i) €49.90
(iii) €36 (iv) €640.50

18. (i) €10460 (ii) €3098.80
(iii) €2160 (iv) €38281.20
v) 71%

19. (i) €520 (ii) €67.20
(iii) €23.30 (iv) €26
(v) €403.50

20. (i) €11200 (i) €5600
(i) €5600 (iv) €14000

(v) €42000



